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. “c SAP & 23l A XM L. Please correct the verbs as shown in the examples.
® =% SAtirregularverb : 0 EO0 20
® & ZAlRegularverb : HC} =}

2711) oA 2ol

27| 2) oM #HXE

27| 3) 2= U2

2ol 4) F2U FE2E

porm (—Ot/0{A) 2|7t ofute,
M2 . (-t/A0l2).
£ (-11) E2jotE E/Y0R.
B (-1) JdetE SAo

20144 5 &

5. M= Ofd ol (-%/AR0R).

6. MES (-ot/M) 7% R.

7. Mol (-1) st e

8. 22 (-(2)H2)

9. TFVI MeHS E (—o}/O|A]) 2ol

10. M= = 5242 (-1) ®F= 3= Y (-ot/ol L)

. “—()HAM” B MA &t xR =2 XM 2. Please make one sentence using ‘“—(2)HA{’.
H27|) el E 2t &2 4ot — LEfE M =2 Fe.

1. O|ot7|E E&4 . &Lt -

2. 3Atoll chddch &= ct -

3. Ot2HIO|EE gt =0 E HiE4cCt —

4, Heju|™E gUHcoh =HE Ut -

5. oid 2 gt AtRlE2 HEUCoh -
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5. gt= E2iokE ZFoftghch I2(1 gh= detE Zotgtd ot (

10.

11.

12.

13.

14.

15.

JoE # gt J2[2 s=z#Hotol s & gt
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DEUch M Aol Zidct

ajgoll LI,
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Asu et a2 &R gZEHct

-
5. O{M= Me|7} otEtgLch TI2fM stuof oF Zh&uct
—
6. &7t X gZAsLCt TehM ok sH o
—
7. ©gUct O S8 oLk
—
8. Zo| st O XstEE REUoh
—
9. EMTL EdEHc A Lol tEH T
—
10. =H7F BAEHeh a8 =2 sgtEHTh
—

Please make one sentence using
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. “—()Y7}'E MA & & =2 Q=M 2. Please make one sentence using ‘- =(2)4 7} .

r

270) W Aol AsHEE a5 752,

— LA AlEe]| oL|nt daiv] FFUML.

1. F0| otguct Z2tE o7te? -
2. EMTL E5UcCH gl LEZEAlCEH -
3. 2=2 HhgUCoh WY THAICEH -
4. o] HEgHCt A5 R, -
5. X|5tE0| SEELCE HAIE E7te? -

6. o gt= E2foirt Mo|UgsHoh Zol SAIch

. “—~(2)U7"E MM CtS tHElE 2FMSIM| . Please make a dialog using < ()47}

(o2l M7t o|M MoflA Matgtct.)

ol U, 252 Rpe_jLimt 11 Alofl BhbQ.
o2l : ofclol Z7te?

ojM ()47t ElE22 ¥ ATl 7.

Ol 2 @ HZI7X] o{EH Z7t27?

cIPSIE ()7t EHAIE ERAlCH
(ol Mot ojM ME sds FEUch XF2 2F 244 ch)

o2l oM 4, HAlg Henter

old o, (U7t FHae Hoie.

o2l : & H3e?

ol - (o) 7t g Hole

oz : Hag HD B ee?
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IV. C}S SolA HI2X| 238t 2E2 I1Z2M|L. Please choose the sentence which is not correct.
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V. CIS 2Z2 MM SIM| L. Please complete the following sentences as shown in the examples.

2

edors. |/

$-010| gioja,

H2)) "7l 21 g}
H|7} @X|ot =1
H| 7} 2FAM pdpe |

2./

GE =to..

HI 7L 247t SAIE EMta? | FHAa.

1) X|st&o| w=2

X|St& 0| w=X|2t

x| 5&o| waty

X|stE 0| =t

2) = AlEol M

=2 AlEol Mpx|gt

== AlEol MM

== AlEol M7t

o{E &etoll sh=oll Jhx|gt

o5 &etoll gt=oll JtAM

o{E &etoll st=oll ZHu 7t




